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á
g
o
s
d
ö
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ú
gy
,
h
og
y
az

eg
y
ik

sz
ám

h
et
ed

e
eg
ye
n
lő
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jú
n
iu
s
20
-á
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őt
t
az

ór
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lő
ss
ég
i
b
iz
to
śı
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śı
tó
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ő
7
d
ar
ab

1
×

2-
es

d
om

in
óv
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ló

gy
er
ek
ek

át
la
gé
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ó
sz
ám

ok
ös
sz
eg
e
u
gy
an

an
n
y
i,
m
in
t
a
m
ás
ik

cs
op

or
tb
a
ta
rt
oz
ók
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öv
et
ő
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ú
sá
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tá
n
k
iv
ál
as
zt
ju
k
a
ko

ck
a
eg
y
ik

cs
ú
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áb

rá
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té
rk
ép

et
”
lá
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lö
n
b
öz
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ű
ek

le
-

gy
en

ek
?

1
9
9
4
.
é
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ő
b
et
ű
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őz
és
t
já
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ór
a
és

a
p
er
cm

u
ta
tó
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ó
3-
m
al

is
és

4-
gy
el

is
,
és

6
k
ü
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ó
p
oz
it́
ıv

eg
és
z
sz
ám

,
am

in
ek

7
k
ü
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rá
n
lá
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ró
l
jo
b
b
ra
)
eg
y
-e
gy

p
oz
it́
ıv

eg
és
z

sz
ám

n
ég
y
ze
te

ál
lj
on

,
to
v
áb
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ü
k
,
a
h
ar
m
ad

ik
at

2-
ve
l
sz
or
oz
zu

k
,
a

n
eg
ye
d
ik
et

2-
ve
l
os
zt
ju
k
,
ak

ko
r
eg
ye
n
lő
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É
s
h
a
h
at

p
on

to
t

ve
sz
ü
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ú
zz

k
i
10

sz
ám

je
gy
et

ú
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tá
n

ös
sz
ea
d
ju
k

a
so
ro
k
b
a

ı́r
t

sz
ám

ok
at
,
m
a
jd

az
eg
ye
s
os
zl
op

ok
b
a
ı́r
t
sz
ám

ok
at

is
.
Ig
az
ol
ju
k
,
h
og
y

az
ı́g
y
ka
p
ot
t
6
sz
ám

k
öz
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ú
cs
a,

ak
ko
r
az
ok

k
ü
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öz
ü
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ü
lt
Á
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źı
te
n
i.

M
in
él

ke
ve
se
b
b
h
el
ye
n
ak
ar
u
n
k
fo
rr
as
zt
an

i.
L
eg
ke
ve
se
b
b
h
án

y
d
ar
ab

d
ró
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á
g
o
s
d
ö
n
tő
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sú
cs
b
a
te
h
et
i.

E
zu

tá
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ű

go
ly
ó
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tó

él
ek

fe
le
ző
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ső
b
en

,
a
h
ar
m
ad

ik
b
an

is
10
-z
el

tö
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lö
n
b
öz
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é
v
i
v
e
r
se
n
y
,
1
.
n
a
p

1
.
A

k
öv
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áu

l
p
ir
os
sa
l
és

k
ék
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tá
n
lé
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aṕ

ır
ra
,
m
a
jd

az
ı́g
y
ka
p
ot
t
h
at
je
gy

ű
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ü
l
az

ı́g
y
ka
p
ot
t
er
ed

m
én
y
t
el
os
zt
ja

13
-m

al
.
(A

z
os
zt
ás

er
ed

m
én
ye

m
in
d
ig

eg
és
z
sz
ám

.)
A
ka
p
ot
t
sz
ám

ot
m
eg
m
on

d
ja

A
n
d
in
ak

.
A
n
d
i
eb

b
ől
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lé
p
és
ei
,
d
e

A
eg
y
lé
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rö
v
id
eb

b
id
ő
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cé
lb
a,

h
a
eg
y
sz
er
re

in
d
u
ln
ak

?

3
.
E
l
le
h
et
-e

h
el
ye
zn

i
a
śı
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gú

9-
je
gy

ű
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Ír
j
in
d
ok

lá
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té
n
eg
és
z
sz
ám

),
ak

ko
r
a
m
ar
ad

ék
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éṕ
ıt
en

i,
am

el
y
n
ek

te
lj
es

fe
ls
źı
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rö
se
?
(N

em
ke
ll
m
in
d
en

ko
ck
át

fe
lh
as
zn

ál
n
i,

és
k
ét

ko
ck
át

cs
ak

eg
y
-e
gy

te
lj
es

la
p
já
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